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for k=1:n
1 8 1 6 -2 p = k; max = abs(A(k,k));
pa_ | 12 1 -5/2 -5 5 for j=k+iin
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end
end
for j=k:n
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end
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L= ln><n7 U= Onxn for j=1:k—1
for k=1,2,---,n L([k,pl,j) = L([p,k],j);
ERy NER end
FRIAL [ OES index([k,p]) = index([p,k]);

for j=k:n

forj=k,k+1,---,n Uk,3) = Ak, j);

Uyj = ayj end

fori=k+1,k+2,---,n for i=k+l:n
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a,-j = a,~j — Iikukj
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for i=k+1:n index = 1:n;
for j=k+1:n
AGi,§) = AG,J) - LG,K*UK,3); for k=1:n
end p = k; max = abs(A(k,k));
end for j=k+1:n
end if (max < abs(A(k,j)))
p = j; max = abs(A(k,j));
P = zeros(n,n); end
for k=1:n end
P(k,index(k)) = 1; for j=1:n
end A(lk,pl,j) = AClp,k1,j);
end

index([k,pl]) = index([p,k]);
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>> A for i=k+1:n
A= A(i,k) = A(i,k)/A(k,Kk);

0 10 20 end

2 1 10 for i=k+1l:n

10 0 5 for j=k+1:n

AGLG) = AL, §) - AG L) *A(Kk, §);

>> LU_pivot_select end
>> L end
L= end
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end
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[L,U,P] = 1u(d);
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T - (@AY OKRT 1 7 RFER) BEE R BT —RHER 49 /85 T - (IHEARE ORT 1 7 2FR) BEEE : T —RHER 53 /85
LU _pivot_select.m FAE lu
>> P
P =
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1 0 >> lu_decompose
1 0 >> L
>> P’ *L*U L =
ans = 1.0000 0 0
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2 1 10 0.6667 0.3846 1.0000
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>> A

A =
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A=l o 2 3 4
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L RAFx—0f
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Uy Uz Uy Up3  Ung _ 2 10 2 -5
U1z Up3 Us3 U3z Usg -2 2 3 -4
Uig Uzg4 U3sa  Ugg Usg 2 -5 -4 10

2 1/2
ui? = an = upy = (an)? =2
a2
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U1
a3
Uiz =ap = u3 = — = —1
Uy
ai4
Ul = ayy = Uy = — =1
Uiy
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4ROEFTHEIAL AT —DE
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U U Up U Uy | _ | 2 10 2 =5
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Upg Upgq U3g Uyg Uy 2 -5 -4 10
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a3y dz3 asa <~ 2 3 —4 — -1 [1 -1 1}
dgp d43  daa -5 —4 10 1
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=1 3 2 =3
-6 -3 9
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2 1/2
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Uz
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ass
Uglzg = a3g = Uzg = — = —1
us3

FH - (IBEAY ORT 1 7 R%R) BEEHE  E—RAER 64 /85

L RAX—0fR
2RDEATHEIL RF—2fR

Us3 Usz Usq | 1
U3q  Ugg Ugq -1

[aw]=[5]-[-1][-1]

T - (IHEARF ORT 1 7 2FR)

~[4]

BEEE  E—RHER

OdL RAx—50fR
1ROEATHAEIL AF—9FR

e ] [ ] = 4]

5

2 1/2
Ugs™ = a4 == Ugg = (344) 2=2

T = (ISEAE DR 1 7 RER)

BEEHE i —RAER

L RAF—0f

4 2 -2 2
2 10 2 -5
-2 2 3 —4
2 -5 —4 10

T - (IHEARE ORT 1 7 2FR)

L RAF—5f

[ =
for k

SEH H— (IHEAR ORT 1 7 A%¥H)

2

13

o111
1 -2 -1 2

BEEE : T —RHER

EO7I)I3Y) XL

Oan
=1,2,---,n
Uk = (akk)1/2

fori=k+1,k+2,---,n
agi

Ui =
Uk

fori=k+1,k+2,---,n
forj=k+1,k+2,---

a,-j = a,-j- — UgiUgj

BEEE I —RAER

,n

|

64 /85
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cholesky.m cholesky_memorysaving.m

U = zeros(n,n); >> A
A=
for k=1:n 4 2 -2 2
Uk,k) = sqrt(A(k,k)); 2 10 2 -5
for i=k+1l:n -2 2 3 -4
Uk,i) = A(k,1)/U(k,k); 2 -5 -4 10
end
for i=k+l:n >> cholesky_memorysaving
for j=k+1l:n >> A
A(i,j) = AGL,3) - Uk, 1)*U(k,j); A=
end 2 1 -1 1
end 2 3 1 -2
end -2 3 1 -1
2 -6 -1 2
EH E— (IBEERF ORT 1 7 REH) BUEEE  E—RHER 68 / 85 T - (IHEARF ORT 1 7 2FR) BEEE  E—RHER 72/ 85
cholesky.m RE%K chol
>> A
A=
4 2 -2 2
2 10 2 -5 7 7 4 )b cholesky_decompose.m
-2 2 3 -4

A=1T4, 2, -2, 2;...
2, 10, 2, -5;...
-2, 2, 3, “4;...

>> cholesky 2, -5, -4, 10 1;

>>
. _U [U] = chol(A);
2 1 -1 1
0 3 1 -2
0 0 1 -1
0 0 0 2

T R (RIS A7 1 2 AER) B R 60/85 T = (IRIEAR DA 1 2 AEH) ik R 73/85
cholesky.m RE%4 chol
>> U’y >> cholesky_decompose
ans = >> U
4 2 -2 2 U =
2 10 2 -5 2 1 -1 1
-2 2 3 -4 0 3 1 -2
2 -5 -4 10 0 0 1 -1
0 0 0 2
>> U’#U
ans =
4 2 -2 2

FH E— (IBEKRFE OKRT 1 7 2FR) BUERE - B —RARR 70 /85 T E— (IHEKRFE ORT 1 7 2FER) BBRE - BI—RAER 74 /85
cholesky_memorysaving.m AL RAF—DREICE D EEMDHIE
a,-j @{IE‘I uj @Efg@?ﬂ:lﬂ\g uj 0)%1-%:%%%& a,-j ‘:mm 1 3 o Uy Uy Uip
ﬁyﬂ U @ﬁiﬁ . ?i—yu A @H%&ﬁtﬁﬁ ct "J J:f:*ﬁ-’ﬁl’ﬂ 3 5 B uip Uxp [75))
for k=1:n Uy = = un=1 upun =3 = up=3
A(k,k) = sqrt(A(k,k)); 1 3] _|1 1 3
for i=k+1:n 35| |3 u» U
. Alk,i) = A(k,1)/A(k,k); Rpd, =5 = u=-4
en L N
for i=k+1:n THILEETAHW
for j=k+1l:n A8
A(i,j) = A(L,5) - ACk,1)*A(k,j); AL REF—BETEAL
end
end RIFTINCIL RF—FROTILT Y X L%EA
end — THHIPEELIEHI EHET DI ENTES

SEH - (IHEAT ORT 1 7 A¥H) BEEHE  E—RAER 71/ 85 SEH H— (IHEAR ORT 1 7 A%¥H) BEEE I —RAER 75 /85




B —RARA =L
eI — R AR &<

>A=1[3, 2, -2;...

6, 2, -1;...
-3, -8, 7];
>b=1[1; 3; 61;
>> A\b
ans =
1.0000
-2.0000
-1.0000

T M= (IRMAY DR 1 5 AERY)

BUEEE  E—RHER 76/ 85

BIL— RN & f# <

>> A\b

Step 1 1751 A B=AITHTHEHEHAND
ZATITHZRE, ZATHIAOHEZRT
Step 2 175 A BN TH 235G, AL AF—DEEET
HEEALEILRAF—o@EAVTELI—RARIEMEL<
Step3 L RAF—DRICKBMLEBER, LUDREEEST
LU D@ ERAWTCETL—RARXE#ES
I
AR —I\RBHEARL B
LU 938 % BATRENICEAT (7 7 1 )L le_solve_LU.m)
AL 2 F—2%ARICET (REBTIAEENTDISZAE
(7 7 1 JU le_solve_Cholesky.m)

FH f— (IDEAY OKT 1 2 2%7H)

WidEE  m—RAER /85
I —RARNZ# <
LUSBZRWTEILI—RABRRZ/HELS

PA= LU

Ax=b
3

PAx = Pb
LUx = Pb

4

ly =Pb BHIORHSEE y &R
Ux=y BHORDSEExERDD

T - (LAY OKRT 1 7 RFER)

BUEEE  E—RHER 78 /85

le solve LU.m

7 74 le_solve_LU.m

A=13, 2, -2;...

6, 2, -1;...
-3, -8, 71;
b=1[1; 3; 61;
[L,U,P] = 1u(A);
y = L\(P*b);
x = U\y;
X

T3 i (URMEAS D71 7 AER)

BEEHE  E—RAER 79 /85

le_solve_ LU.m

>> le_solve_LU

1.0000
-2.0000
-1.0000

BEEE  E—RHER

T - (IHEARF ORT 1 7 2FR)

I — KRR % f# <
AL 2F—HRERVTEI—RARR%E B
M=U"U

80 / 85

Mx =b
(3
UTUx=b
A3

b BRHMOANSHEE y KD
Ux=y BREORXNLMBE x%ERDD

BEEHE i —RAER

T Hi— (IHWAY OEF 1 5 R¥R)

le_solve_Cholesky.m

7 7 1 JU le_solve_Cholesky.m

M=14, -2, -2;...

-2, 2, 0;...
-2, 0, 31;
b=1[2;2; -51;
U = chol(M);
y = U’\b;
x = U\y;
X

BUEEE  E—RHER

T - (IHEARE ORT 1 7 2FR)

le_solve_Cholesky.m

>> le_solve_Cholesky

BEEE I —RAER

SEH H— (IHEAR ORT 1 7 A%¥H)
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xEDH

LU 7 f#
ERTIAZT=ATTIL & E=ATTH U DBTRY

A=LU
PA=LU(ERY NBIR : BIRTFIP)

AL RAX—9fR
EERHRTEI A

A=LLT A=UTU
B EtE

LUSDE/ DL 2AF—2B AV TELRABRRZE <

FH H— (IBEERT ORT 1 7 REH) BUEEE  E—RHER

L R— K (MATLAB Grader)

MATLAB grader [EII—RxARR |
D 20246 H3H (AIE) 00:10 AM

FH - (IBEAE OFT 1 7 RER) BEEE I —RAER
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